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Note: (i) All the 32 questions in both the section 'A" and 'B' are compulsory.

(i) Marks for questions are indicated against each question.

(ii) Question No.1 to 5 and 17 to 21 are very short answer type
questions carrying 1 mark each. They are required to be answered in
one sentence or within 20 words each.

(iv) Question No. 6 to 10 and 22 to 26 are short answer type questions
carrying 3 marks each. Answer to them should not normaily exceed
60 words each.

(v) Question No. 11 to 13 and 27 to 29 are also short answer type
questions carrying 4 marks each. Answer to them should not normally
exceed 70 words each.

(vi) Question No. 14 to 16 and 30 to 32 are long answer type questions
carrying 6 marks each. Answer to them should not normally exceed
100 words each.

(vii) Answer should be brief and clear to the point and above word limit be
adhered to as far as possible. _

(viii) Start from the first question and proceed to the last. Do not waste

time over a question if you cannot solve it.

(1] [P.T.O.



gUs -~ A (Section — A)
1. g S T i SaE A &2 | 1
Why does the 'problem:bf choice' arise?
2. dWmd Reda srafsasdl 1

Define 'change in demand'.

3. St Qe suaiiar g Bt & aa o e e F & @ 1

When 'Marginal utility’ is zero, then in following, the 'total utility’ is :

(i) [3 S (i) =gAem
Zero ' ' ' Minimum
(iii) UMD (iv) 3iftreaw
Negative Maximum
4. mid I (MP) dch B Pl TTIa: fbd YBR Bf Bt &7 1

What is the general shape of MP curve.

5. SR & 5w Rafa &, vt &1 W@da w3 vd SiEtd - a1 & 1

In which market condition, entry into the market as well as exit from the
market are free for firms :

(i) UPIHBR
Monopoly
(i) SENEBR
Oligopoly
ity gt fcrenfirar
Perfect Competition
(iv) TR SRR
Moncpolistic Competition
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6. IAUE TRIGHT acb B! IFURON & o gRI W Hifswe!

Clarify the concept of production possibility curve with the help of diagram.

7. AW aRpi e g awgst & ard o faa grr s

Explain the meaning of normal goods and inferior goods with the help of

diagram.

8. WM I B3 HoT UG I T B WL B

Explain the relationship between marginal product and total product.

9. ISNAT a5 D! fALaE &1 avl dfse|

Describe the properties of indifference curve.

10. o=t ifera & gof sferfiren & srmta e wwgee @ e 3 we ifse-

B (AT 58 T H) | HITT D AT (FHTE) ofef & T (5E8)
1 100 10
5 60 40
8 50 50
10 30 60
20 10 100

3

3

From following table, draw the diagram of determination of equilibrium price under

perfect competition—

Price (X per Unit)

Demand (Units)

Supply (Units )

1
)
8 .
10
20

100
60
50
30
10

10
40
50
60
100

11. Qura Iyafiar g fow & arfere vd R gRy ya@ge

Describe the law of diminishing marginal utility with the help of table and

diagram.
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13.

14.

15.

e e e e s - ;

Explain the marginal cost with the help of table and diagram.

o 4 afer % o e €2 vt v R g T A 4

What do you mean by 'increase in supply'? Explain with table and figure.
AYAT (OR)

RreifRaa aTfiresT 2 gt uRadaier e v Tt o o o v sk o o
o ReR e 2 12 21

3K (3078 #) - P @ ()
1 20
2 26
3 31
4 38

Culculate the total variable cost and marginal cost from the following cost

scheduls of a firm, whose total fixed cost are T 12.

Output (Units) Total Cost (in )
1 20
2 26
3 31
4 38

qCRIl AT @aT 87 3Tt o faeeror & agraer & suvier A @ et @
qHHISE| 6
Define an indifference map. Explain the conditions of consumer's equilibrium

with the help of the indifference curve analysis.

SIS 3eUTeT e & 31T 3T gee &7 R o T ¥ wre i) o

What do you mean by long period production function? Explain with a diagram.
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16. qof SRR < 39 Far wweR &2 gof wRrafar & st o & sl Fwe ot

e S| 6

What do you mean by perfect competition? Discuss the short run equilibrium of

a firm under perfect competition.
JrEat (OR)

uof SR vd vHfRIBR 3 wea 3R W B!

Explain the difference between pefect competition and monopoly.

@Us - ¥ (Section - B)

17. 3 ¥ B @ G 9Ra ¥ S e TR A 8- 1
Which of these institute in India issues Ehe currency notes-—
() o Red 8% (i) ¥R ®e &
Reserve Bank of India State Bank of India
(iii) s (iv) fovads
NABARD World Bank
18. a1 & o A B fefad| 1
Write any two functions of money.
19. MPS I 89 TR MPC &1 Ted fasar &nm- 1
What will be the value of MPC, when MPS is zero-
(i) I _ (i) 3
Zero Infinite
(i) P (iv) o Y B el
One None of these
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20.

21.

22.

23.

24.

25.

26.

27.

28.

Faa o1 o 37 &7 | '

What is meant by Saving?

P F<ge o uRenfia Sifswe! 1

Define balance of payment.

THIID FARTET DI FTUROT BN e GRT W Dfw| 3

Explain the concept of inflationary gap with the help of diagram.

wfte aun wwfte srfene # qr 3R 87 3

. Distinguish between micro and macro economics.

TqHY | & YTl B quie Hifoe? 3

Describe the components of aggregate demand.

I A< G § 529 U4 3G Wal of ol iy 89 319 el & &l JaTexor Afsie?
3

What is meant by visible and invisible items in balance of payment accounts?

Give the two examples of invisible items.

fafma &= @1 @ anef 22 R fafmg = & s Hifse? 3

What do you mean by exchange rate? Clarify the fixed rate of exchange.

Frarer oe ¥ 39 T e & 3! 0T $ B S & Seeer aftd saRdl 4

What do you mean by investment multiplier? How is it culculated? Explain with

example.

TR Fotc B aRuIv ifowe 3k swb W 3w samEv) 4

Define government budget and give its main objectives.

YAl (OR)
(3T °1CT 3T 2? 59 YHIET BT Ieorg BdIfHe|

What is meant by Revenue deficit? Mention its effects.

412 (IM1) 6]



29

30.

31.

32.

. e aeie, SaayYl @5 Ud TR & e Y SEUROTH & W Bl

Clarify the concept of balance budget, surplus budget and deficit budget.

T g B Rt sraeRonsl @ eren e

Explain the various concepts of National Income.

8 o & @ ot B arEn Hiiswe|

Explain the main functions of Central Bank.

3iRE® RITR A 319 T TAFA F? THS WE SR B TG |

What do you mean by involuntary unemployment? Mention its main causes.
U (OR)

ot ASAIR Bt TR B FarEd| gof AR B Ay B fader Bl

Give the concept of full employment. Discuss the full employment'policy.

KEFRE
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